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1. Which one of the following differential equations is not separable?
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3.  If the system
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has infinitely many solutions, then k =
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5. If the differential equation

(Azy + (A — B)ysin(2z)) dz + (z* + Bsin’z)dy =0
e, e RE T V— N :

is exact, then M
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7. A one-parameter family of solutions of the differential equation
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8. If a particular moving in a straight line has / acceleration
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an initial position z(0) = 0, and an initial velocity v(0) = 0, then z(2) =
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9.  The population of a community is known to increase at a rate proportional
to the number of people present at time ¢. If an initial population P, has
tripled in 8 years, how long will it take to quadruple?
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11. (15 points) Solve the initial-value problem:

dy 21y
dr z2+1

=z2+2, y(0) =1.
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12. (15 points) Verify that the following differential equation is exact, and
then solve it:

1
(Eg -+ ye“") dx + (e* + coty) dy = 0.
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13. (10 points) Consider the system

z+y+z=1
z—y+22=-2
2r+2y—z=25.

Use Cramer’s Rule to find the value of z.

(Note: You will get zero if you use another method).
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| Answer KEY |

Q || MASTER | CODEO1 | CODE(O2 | CODE03 | CODE04
1 A A D E B
2 A B C B E
3 A E B E B
4 A E B D D
5 A A C B B
6 A D E D C
i A E C B A
8 A B A C B
9 A C D D B
10 A B D A D




